
NAT II Physical Science Analytical

Sr Questions Answers Choice

1

Nine Individuals – Z, Y, X, W, V, U, T, S AND R are the only candidates, who can
serve on three committees labeled A, B and C.

Each candidate should serve on exactly one of the committees.

Committee A should consist of exactly one member more than that of committee.

It is possible that there are no members of committee C. Among Z, Y and X none can
serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.

Q: In case T, S and X are the only individuals serving on committee B, the total
membership of committee C should be:

A. Z and Y
B. Z and W
C. Y and V
D. Y and U
E. X and V

2

Nine Individuals – Z, Y, X, W, V, U, T, S AND R are the only candidates, who can
serve on three committees labeled A, B and C.

Each candidate should serve on exactly one of the committees.

Committee A should consist of exactly one member more than that of committee.

It is possible that there are no members of committee C. Among Z, Y and X none can
serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.

Q: In case, any of the nine individuals serves on committee C, which among the
following could not be the candidate to serve on committee A?

A. R
B. Y
C. W
D. T
E. S
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Nine Individuals – Z, Y, X, W, V, U, T, S AND R are the only candidates, who can
serve on three committees labeled A, B and C.

Each candidate should serve on exactly one of the committees.

Committee A should consist of exactly one member more than that of committee.

It is possible that there are no members of committee C. Among Z, Y and X none can
serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.

Q: In case R is the only individual serving on committee B, which among the following
should serve on committee A?

A. W and S
B. V and U
C. V and T
D. U and S
E. T and S
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Nine Individuals – Z, Y, X, W, V, U, T, S AND R are the only candidates, who can
serve on three committees labeled A, B and C.

Each candidate should serve on exactly one of the committees.

Committee A should consist of exactly one member more than that of committee.

It is possible that there are no members of committee C. Among Z, Y and X none can
serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.

Q: of the nine individuals, the largest number that can serve together on committee C
is

A. 9
B. 8
C. 7
D. 6
E. 5

Nine Individuals – Z, Y, X, W, V, U, T, S AND R are the only candidates, who can
serve on three committees labeled A, B and C.

Each candidate should serve on exactly one of the committees.
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Each candidate should serve on exactly one of the committees.

Committee A should consist of exactly one member more than that of committee.

It is possible that there are no members of committee C. Among Z, Y and X none can
serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.

Q: In case T and Z are the individuals serving on committee B, how many of the nine
individuals should serve on committee C?

A. 3
B. 4
C. 5
D. 6
E. 7
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Two or more tealeaves out of five varieties – Livana, Mathia, Novajana, Oxia, and
Piask are used in making all branded by a marketer following the rues given below.

A brand containing Livana, should also contain Novajana twice that of Livana.

A brancd containing Mathia, must also have equal quantity of Oxia.

A single brand never contains Novajana as well as Oxia.

Oxia and Piask should not be used together.

A blend containing Piask should contain it in such a proportion that the total amount
of Piask present should be greater than the total amount of the other tealeaves

Q: Among the below mentioned brands, which can be made agreeable by eliminating
some or all of one type of tealeaves?

A. One part Livana, one part Mathia,
one part Novajana, four parts Piask
B. One part Livana, two parts
Novajana, one part Oxia, four parts
Piask
C. One part Livana, one part Mathia,
one part Oxia, one part Piask
D. Two parts Livana, two parts
Novajana, one part Oxia, two parts
Piask
E. Two parts Mathia, one part
Novajana, two parts Oxia, three parts
Piask

7

Two or more tealeaves out of five varieties – Livana, Mathia, Novajana, Oxia, and
Piask are used in making all branded by a marketer following the rues given below.

A brand containing Livana, should also contain Novajana twice that of Livana.

A brancd containing Mathia, must also have equal quantity of Oxia.

A single brand never contains Novajana as well as Oxia.

Oxia and Piask should not be used together.

A blend containing Piask should contain it in such a proportion that the total amount
of Piask present should be greater than the total amount of the other tealeaves

Q: Among the following, which combination cannot be used together in an agreeable
brand containing two or more types of tealeaves?

A. Livana and Mathia
B. Livana and Novajana
C. Livana and Piask
D. Mathia and Oxia
E. Piask and Novajana
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Two or more tealeaves out of five varieties – Livana, Mathia, Novajana, Oxia, and
Piask are used in making all branded by a marketer following the rues given below.

A brand containing Livana, should also contain Novajana twice that of Livana.

A brancd containing Mathia, must also have equal quantity of Oxia.

A single brand never contains Novajana as well as Oxia.

Oxia and Piask should not be used together.

A blend containing Piask should contain it in such a proportion that the total amount
of Piask present should be greater than the total amount of the other tealeaves

Q: Among the following, the addition of which combination would make a brand
containing two parts Novajana and one part Piask conformable with the conditions?

A. One part Livana
B. One part Mathia
C. Two parts Novajana
D. One part Oxia
E. Two parts Piask
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Two or more tealeaves out of five varieties – Livana, Mathia, Novajana, Oxia, and
Piask are used in making all branded by a marketer following the rues given below.

A brand containing Livana, should also contain Novajana twice that of Livana.

A brancd containing Mathia, must also have equal quantity of Oxia.

A single brand never contains Novajana as well as Oxia.

Oxia and Piask should not be used together.

A blend containing Piask should contain it in such a proportion that the total amount
of Piask present should be greater than the total amount of the other tealeaves

A. One part Livana, one part
Novajana, five parts Piask
B. Two parts Mathia, two parts
Novajana, two parts Piask
C. One part Mathia, one part
Novajana, one part Piask
D. Two parts Mathia, one part
Novajana, four parts Piask
E. Two parts Novajana, one part
Oxia, three parts Piask



of Piask present should be greater than the total amount of the other tealeaves

Q: Adding more amount of Novajana will make which of the following brands
conformable with the conditions?

Oxia, three parts Piask
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Two or more tealeaves out of five varieties – Livana, Mathia, Novajana, Oxia, and
Piask are used in making all branded by a marketer following the rues given below.

A brand containing Livana, should also contain Novajana twice that of Livana.

A brancd containing Mathia, must also have equal quantity of Oxia.

A single brand never contains Novajana as well as Oxia.

Oxia and Piask should not be used together.

A blend containing Piask should contain it in such a proportion that the total amount
of Piask present should be greater than the total amount of the other tealeaves

Q: Among of following which is an acceptable brand in accordance with the rules?

A. One part Livana, one part Piask
B. Two parts Mathia, two parts
Livana
C. Three parts Novajana, three parts
Livana
D. Four parts Oxia, four parts Mathia
E. Five parts Piask, five parts Mathia


